DA-E

PNEUMATIC HYDRAULIC CO.,LTC

B EAERRIEMR

Yacuum Ejector




PDF [20] g

RV EZ=8# 4R

Vacuum [Ejector

RV10-HS
RV10-HSCK

& %

I o |laas
16 14 20

45
RV15-HS
RV15-HSCK

113

[ IoT I| 1

G|° ME % . |[ oooo

20

RV20-HS
RV20-HSCK

163

| REEEZRA R

o Cmo o ——r— AhEGICKR LR

S| lE % o %D@DDDDD (KT-07R)
30 28 i 32 i
85
i ge HRBhH| ExZE |EZRE |ZERHEE HEER |HBER| E &

g bar -kpa L/min L/min HEA | E=H g
RVIO-HS 4-6 92 27 44 o6 @8 85
RV10-HSCK
RV15-HS

4-6 92 65 100 o6 @10 145
RV15-HSCK
RV20-HS

4-6 92 110 180 78 @12 320
RV20-HSCK




PDF [20] §g

X RIREZMEZE LR

Mini Multipole Vacuum Ejector

RIRER EBRE,
Z I £ RRET BERE R,

JRERAEERE

/' HR 0O G3/8 /’ HZE[O G3/8
@ O
~ /@/ ]
& 205

25 24.5

31
235 |

Q,b'.b #ROG18

24 125
g HERBH | EZFE ETRE | ZRHEHE| 2 E (HEBEER | HEBER| E E
= bar -kpa L/min L/min Limm) | #tRF | EZA g
BX10-C 4-6 92 62 43-48 23 6 8 215
BX20-C 4-6 92 124 86-96 30 6 10 215
BX30-C 4-6 92 185 129-144 37 8 12 260




PDF [20] &g

VIV VIM 2 EZP 34 85

Multipole Vacuum Ejector

ZHMEZERLERRE

A EEER

RN REE
& 150~300

15.7 53
#E0 G1/8

34

9 326 424
103.5
24.2 ‘ 36 ‘
ﬁﬂ]ﬂuo -
- - LI
415
o3 HERBH | EFE ETRE |ZRHE| 2 E (HEER | HEBER| E B
= " bar -kpa L/min L/min A(mm) | #gF | EZ=A g
VIM301 4-6 93 84 40-48 28 76 @8 215
VIM302 4-6 93 152 80-92 28 @6 @10 215
VIM303 4-6 93 260 110-125 42 a8 @12 260
VIM304 4-6 93 290 145-175 42 @8 14 260




PDF [20] §g

RF EZE18 R 25

vacuum filter

BRI R QR AR REREME
BRENRTERRUKNTREE

RF-10
45 S1
3/8 E
i S
RF-15/RF-20
98 ”
1/2 3 ; @ §
3/4 g | \ )
L ~N~——
¢ |
< N 7
i oE FHEBLH| E @ |FALE|BERBE| i B2 |nHEzE2|BRERE| E 2
= Kpa | # & °C um NL/min cm? m? g
RF-10 150 45 0.003 70
PA -20
RF-15 | -100-0 PC | 10 900 195 0.010 170
PE 80
RF-20 900 205 0.010 168




DZH EZ= 8k 35
conveyor =T ¥I=T
Vacuum conveyor
REBRRLE
BRI HEIENZERRE.
R A HIGAEHNERRE.
fitm
Supply air
WMAZER BEHZER
Suction air Discharge air
]_J

g% Model DZH-13-L | DZH-22-L | DZH-30-L | DZH-42-L

R 88 #1 & Body material £84 € Aluminum alloy

HHEME Seal material NBR

JEEE & Passage diameter @13 @22 @30 @ 42

BE R Port Size 1/8 PT 1/4 PT 1/4 PT 3/8 PT

B S 5B pressure range 1to 6 bar

B & Weight 115¢g | 4259 | 970 g 2000 g

A L
D F
—— r——»
[ ©|

[2:]
oC
[——]
m
21
J

8% Model | A [@B|@C| D E F|IG|H|@l|J|K|L|M|[N|JO|P Q

DZH-13-L 751351912 1/8PT | 16| 8 [26|13|25(45|35(18 (35| 1 |28 |M3X0.5

DZH-22-L 120| 55|32 | 16 1/4PT | 23| 9 | 48|22 |45 (45|56 |28 | 55|1.3 |44 [M4X0.7

o ||| X0

DZH-30-L 158| 70|50 | 20| 1/4PT | 28|14 |68 |30 |60 (55|72 |37 |70]| 2 |59 [M4X0.7

DZH-42-L [203| 90| 64 | 25| 3/8PT [ 30|15| 95|42 |80 (55|92 |47 |90 |2.3|76 [M5X0.8 |10



AutoCAD SHX Text
4XQ深度R

AutoCAD SHX Text
E


	圖紙和視圖
	模型

	
	圖紙和視圖
	模型


	
	圖紙和視圖
	模型


	
	圖紙和視圖
	模型


	
	圖紙和視圖
	模型


	
	圖紙和視圖
	模型



